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11.

Defme power method

 State Newton’ s divided dlfference 1nterp01at10n formulae.
3 Write trapezmdal rule.

- State modified: Euler formula
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R PARTA——(lOQZ‘—“ZOmarks)
Wrife any two impertance uses of normal curve.
Wfiteeny f\é(;e"Chalacteristics of 7*test. _
State about advantages of a completely randomized expeumental desagn

How to construct Latin square?
Write Newton Raphson method for the solution of f (x) 0

Define fourth order R.K meth_od.

PART B—(6 x 16 = 80 marks)

(a) In a large city A 20% of a random sample of 900 school boys had a slight
physical defect. In ‘another city B 185% of 'a random sample of
1600 school boys had the same defect Is the dlffelence between the
‘propor tlons mgmfmant" ‘

_ o Or y
(b) Machinist  is making engine parts with - arc diameters of
‘ 0.7 inch. A random sample of 10 parts shows a mean diameter of

- (.742 inch with a standard deviation of 0.040 inch. Compute the statistic
to test the work is meeting the specification. '
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Three varieties A, B,' Cofa érop are tested in a randomized block design
with 4 replications. The plot yields in pounds are as follows..

A6C5A 8 BY
" C8A 4B 6 C9
B 7B 6C 10 A6

- Analyze experiéntiél yield and start your conclusion.

Or

The followmg table gives the number of 1ef11gelators sold by 4 salesmen

in 3 months May, June, July.

Month Salesman

- May 50 40 48 39
June 46 48 50 45
July, - 39 44 40" 39

Is this a &gmﬁcant dlfference in the sales made by 4 Salesmen‘?

Is thls a 51gn1flcant dlfference in the sales durmg dlffelent month'7

Sbl\fé the""SYStém of eQu’ati’Ons' by 'Gau_ss' el_i_minaf'io'n‘ rﬁethod

x+2y+2=3, 2x+3y+32=10, 3x-y+2z=13.

Or

Find the real _positive root 3x COS X — 1 0 by Newton Raphson method

' Correct to three demmal places

Evaluate IO I using trapezoidal rule with 2 =0.2. Hence obtain an

_ appfoximate_ value of 7

Or

‘From the follqwin's-g. téble‘find f(x) using Newton’s intefpola_tion formula

x: [1]2(7]8
f):|1]515 |4

Apply fourth order R-K method to find ¥(0.2) given y' =x+7y, y(0)=1:

Or

Given y' =y "énd ¥(0)=1 determine the values of y at
x =0.01(0.01)(0.04) by Euler method. '
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